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2P AFHN %= HE2F X4 5,424,359 7,508 5,416,851
=2 5,379,000 0 5,379,000
- 45,359 7,508 37,851
SA MEBISTAIS (HBUI =& SE3IH) 5,424,359 7,508 5,416,851
=2 5,379,000 0 5,379,000
- 45,359 7,508 37,851
M- 2MHBHISEXT JIBAIE &X 5,386,359 7,508 5,378,851
= 5,379,000 0 5,379,000
- 7,359 7,508 A 149
401 AlEHIZL 20 5,386,359 7,359 5,379,000
= 5,379,000 0 5,379,000
2 7,359 7,359 0
01 Al&H] 5,386,359 7,359 5,379,000
OAMN.Z2A THEHISE ALY DIBIAIE &EXI(AE
&) Z X 5,386,359,000& 5,386,359 7,359 5,379,000
= 5,379,000 0 5,379,000
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02 Al - EHIEXZ2EtEZ2 0 149 A 149
OM . SATHEBISEAIY JIBIAIE EXI(HE T
olg) a3 0¥ 0 149 A 149
ol gl y| 38,000 0 38,000
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Oollgldl 38,000 0 38,000
NWLES (A=) 149 0 149
SIS (MHELESE S35 H) 149 0 149
gtat =2 X 149 0 149
802 BHEt2SJ|Ef 149 0 149
02 Al - CSHIEZSEES 149 149
OKN - SMAMEHISTAIY JIBHAIE AX(& A
Tolg) 149 0 149




